AP Calculus BC Name: }\\(\S\Q@r |37 *
Unit 11 — Day 7 — Assignment .

1) Find the area of the region bounded by the graph of r = 8sin#.
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2) Find the area o one pe of 4 = 2cos36.
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3) Find the area of of r = cos26.
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4) Find the area of the interior of r = 1 — sin#.
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5) FlIld the area of thc.oop ofr= 1 + 2cosH. " ‘q;‘
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®). Find the area of theWOff 1 + 2co0s6.
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7) Find the area of the common interior region of r = 4sin26 and r = 2.
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8) Find the area of the common interior region of r = 3 -3ginf0 and r = -3 + 2sin6.
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9) Find the area of the common interior region of r = 4sin€ and r = 2.
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